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Beta Ltd. is manufacturing Product N. This is manufactured by mixing two materials namety

ﬁatertal P and Matenul Q. The Stnndmrd Cost of Mlxture is as under 5
ﬁﬁtenal P 150 ltrs. @ ? &D per 1tr.
H&tenal. Q 100 ltrs @ %60 per Ltr.

Standard loss @ 20 of total input is expected durmg productton

‘ihe cost records for the period exhibit fauowmg consugn;atzon
ﬁﬂténai P 140 ltrs. @ T 42 per o

ﬁateﬁﬂi Q 110 lrs. @ X 56 per ltr,
Qﬁﬁr@t;ty ;}{aduied was 195 ltrs.

i)

Mﬁienel, Cest \far ance

Material Usage Variance.

Material Price Variance
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mical mixture is as follows: 60% of Material A @ < 50 pet

The standard cost of a che
40% Mqtenat B @ Z 60 per kg

”A standard loss of 25% on output is expected in pro
shown the following usage. =
540 kg of Material A @ ¥ 60 per kg 260 kg of Material B @ 2 5&3 ;}efkg
The quantity processed was 680 kilograms of good pr%duct Ff‘i}fﬁ i:%}éfz,
Calculate: | ‘ e =

() Material Cost Variance R = TS e
(i) Material Price Variance
(i) Material Usage Variance
| (iv) Material Mix Variance

| (v)  Material Yield Variance.
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1A gang of workers normully consists of 30 skille
|| unskilled workers. They are paid at standard rate

Q ‘
d workers 15 semi- sk:ued workers and 16

per hcur as under:

Skilled =~ 70 —
Semi-skilled = T6h T R S —— — ——
Unskilled e v T = — = @

In a nﬁrfﬁéi ;s;ark;ng week of 40 hours the gang is expected to produce 2,000 units of output.
; Durxﬂg ﬁ'ié week ended 31st March, 2019, the gang consisted of 40 skilled, 10 semi-skilled and

k

| S unskilled workers. The actual wages paid were at the rate of ¥ 75,
? 60 and 2 52 per hour respectively. Four hours were lost due to machine breakdown and 1,600

E umts were produced.
CGtcutate the following variances showing clearly adverse {A) or favourable (F)
16 Labour Cost Variance (ii) Labour Rate Variance
A (i) Labour Efficiency Variance (iv) Labour Mix Variance

L) Labour Idle Time Variance

ur Cost Variance Standard Cost - Actual Cost
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Actual

3,800 units_

21

8 OC}O hsur*s

7,800 hours

$4,00,000

2390000

%1 20,000

31,20,000
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